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a-F | & # A B C D |ABCME | F-2(KE) B =
S—1w 8 3.8 22 16 | 15004 |10/MEA | 2=/0O
S—2w 8 3.8 25 19 | 1000& |[10/MEA | 1=/0O0
66072/ | s—3w 8 3.8 28 22 | 1000& |[10/MEA| 1=/0O
S—aw 8 3.8 32 26 | 1000& |10/ EA | 2=70O
S—5W | 8 3.8 41 35 5007 |10/MEA | 1270
S—6W | 8 3.8 51 45 | 4004 |10/EA| 21=/0O
S—7W | 8 3.8 57 51 300 |10/MEA | =40
S—8W | 85 | 42 65 59 | 300%& |[10/MEA| 1z=/0O0
a-F | & % A B o} D |ABCME)\F-2 (X% B =
S—2wC | 8 3.8 25 19 | 1000 | 10/MBA | K71 b
S—3wC | 8 3.8 28 22 | 1000& |10/MEA | K71 b
S—4wC | 8 3.8 32 26 | 1000 |10/MBA | K71k
66214| |s—25wC| 8 3.8 25 18 | 10004 |10/MEA | 7U—1
66215| |s—28wC| 8 3.8 28 22 | 10004 |10/MEA| 7U—1
a-F | & % A B o} D |ABCME)\F-2 (X% B =
ss—2w | 8 3.8 25 19 | 100074 |10/\fEA |SUS XM7
Ss—3w | 8 3.8 28 22 | 10007 |10/}&A |SUS XM7
66152 | SS—4w | 8 3.8 32 26 | 10007 |10/[EA |SUS XM7
a-KF | & % A B C D |ABUME)|T-2(XH) W E
S—1WF | 7 3.8 22 19 | 1000& |10/MEA | 1=700
66086 | S—2WF 7 3.8 25 22 | 1000%& |10/8A | 1=/0
S—3WF | 7 3.8 28 25 | 1000%& |10/MEA | 1=/0
S—4WF | 7 3.8 32 29 | 10007 |10/MEA | 2=70O
S—5WF | 7 3.8 41 38 5004 |10/MEA | 1=/0
S—6WF | 7 3.8 51 48 | 400F& [10/MEA | 1=/0
66091| | S—7WF | 7 3.8 57 54 3004 [10/MEA | 21=v0
66092| | S—8WF 7 4.2 65 62 3004 |10/MEA | 2=/A
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